) hép cong phan s6 (phan s6 thich hop) (phan sd
ﬁ' v R %D phép cong p p op
5 khong ding)

Tén: Ngay thang: Piém:
6 6 6 7
— 4+ — = — 4 - =
7 4 9 9
3 4 7 5
4+ - = — 4 - =
5 9 3 6
6 3 7 5
4 7 8 7
3 3 6 6
9 6 5 7
5 3 4 5
6 9 6 6
1 3 1 3
2 4 9 7
7 5 1 7
—+ = — 4 - =
5 2 6 &
4 2 7 2
-+ = = — 4 - =
6 9 2 4
4 5 5 6
—+ = — 4 - =
6 8 6 9
5 6 3 2
4+ - = — 4 - =
2 4 5 5
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\“’ v R % phép cong phan s6 (phan sb thich hop) (phan sd
5 khong dung)

Tén: Ngay thang: Piém:
6 6 33 5 6 7 13 !
—t-==2= ==
7 4 14 “14 9 9 9 9
3 4 47 2 7 5 19 1
B 4= =3_
5 9 45 45 3 6 6 6
6 3 27 13 7 5 &9 33
—+Z=o i
4 7 14 14 &8 T 56 56
3 3 5 6 6 72 2
24+2=2 St -= =22
9 6 6 5 7 35 35
5 3 7 4 5 3
-+ -—=—-=1 —t+—-==-=1=
6 9 6 6 6 2
1 3 5 1 1 3 34
—+-=—-=1- —+=-=—

2 4 4 4 9 7 63

7 5 39 9 1 7 25 1
-+ -=—=3— -t —-=—=1—=
5 2 10 10 6 8 24 24
4 2 8 7 2

_+2=2 L4224

6 9 9 2 4

4 5 31 7 5 6 3 1
S+ ==1— S4-o=2=1-
6 8 24 24 6 9 2 2
210y S

2 4 5 5
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